Calculus 1
Integration Review (2)

Integrate the following. Make sure you show all your work (show u du steps if necessary).
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Solve for the constant of integration given the derivatives and a point of the original function.

10) f'(x) =[x dx (12)

I dy=jx%dx
y:%x% +cC

2:%(1)% e

d
12) 2 =5x%° (03)

dy = 5x"y*dx
dy _5xy’dx
y’ y’

y *dy = 5x"dx
Iy*dy = I5x1°dx

—%yz = 1—51x11 +c

1) f'(x) = [(sec® x - sinx dx (%lj

[ dy = [(sec® x —sinx)dx

y =tanx +cosx + ¢

1= Tan(%) + cos(%} +cC

N

c=-707 or -—
2

y =tanx + cosx —.707



